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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00{ 0.00 ~ 1.56 123.82|3m%x# %% 0.00 ~ 0.36 3.28 17.53| 100kN/m#%#B 2% 1.00| 14.27 ~ 22.00 123.82| 3m%x#% %] 20.00 ~ 22.00| 3.28 17.53
s 1.00]1.56 ~ 9.35 100.00f Zhkl9t | 0.36 ~ 9.35| 3.00 16.05 s 1.00f 500 ~ 14.27 100.00f Z=hl4t+ | 5.00 ~ 20.00f 3.00 16.05
9 100kN/m##8 %% 1.00]0.00 ~ 241 137.74| 3m%#%%| 0.00 ~ 0.01] 3.01 16.08| 100kN/m#%#B 2% 1.00{ 11.55 ~ 22.00 137.74| 3m%x# % 5| 20.00 ~ 22.00( 3.01 16.08
s 1.00{2.41 ~ 10.20 100.00f Z=h k4t | 0.01 ~ 10.20] 3.00 16.05 s 1.00f 500 ~ 11.55 100.00f Z=hkl4t+ | 5.00 ~ 20.00f 3.00 16.05
3 100kN/m##8 %% 1.00{0.00 ~ 284 145.02| 3m%*x#B2 5 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.57 ~ 23.94 145.02| 3m%x#B 25 =l ~ - - =
s 1.00] 2.84 ~ 10.63 100.00f Z=hki4t | 0.00 ~ 10.63] 2.77 14.81 s 1.00f 5.00 ~ 10.57 100.00f Zhl4t+ | 5.00 ~ 23.94| 2.77 14.81
4 100kN/m##8 %% 1.00{0.00 ~ 284 144.92| 3m%x#B2 5 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.98 ~ 34.00 144.92| 3m%x{B 25 =l ~ - - =
s 1.00] 2.84 ~ 10.62 100.00f Z=hki4t+ | 0.00 ~ 10.62| 2.96 15.86 s 1.00f 5.00 ~ 10.98 100.00f Zhl4t | 5.00 ~ 34.00f 2.96 15.86
5 100kN/m##8 %% 1.00{0.00 ~ 1.97 130.45|3m%*x#B2 5 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 1240 ~ 32.00 130.45| 3m%x{B2 5 =l ~ - - =
s 1.00{1.97 ~ 9.76 100.00f Z=hl4t+ |0.00 ~ 9.76| 2.81 15.02 s 1.00f 500 ~ 1240 100.00f Zh 4t | 5.00 ~ 32.00| 2.81 15.02
6 100kN/m##8 %% 1.00{ 0.00 ~ 247 138.64|3m%x# %% 0.00 ~ 0.76 3.32 17.77| 100kN/m#%#8 2% 1.00{ 11.70 ~ 40.00 138.64| 3m%x#B 25 - ~ 40.00| 3.32 17.77
s 1.00] 247 ~ 10.25 100.00f Z=hkl9t |0.76 ~ 10.25| 3.00 16.05 s 1.00f 500 ~ 11.70 100.00f Z=hl4t+ | 5.00 ~ 40.00f 3.32 17.77
7 100kN/m##8 %% 1.00{0.00 ~ 142 121.52|3m%x# %% 0.00 ~ 1.38 4.09 21.87| 100kN/m#%#8% % 1.00| 18.55 ~ 30.04 121.52| 3m%x#%%| 15.00 ~ 30.04| 4.09 21.87
s 1.00{1.42 ~ 9.20 100.00| #+list 1 1.38 ~ 9.20| 3.00 16.05 st 1.00f 5.00 ~ 18.55 100.00f Z=hkl4t+ | 5.00 ~ 1500 3.00 16.05
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ FhLst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
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